
SAP ABAP table FMFGRPTADERIVE {Derivation Structure for additional Reporting Attributes}

FMFGRPTADERIVE

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

RTCUR [CUKY (5)]

RBUKRS [CHAR (4)]

SBUKRS [CHAR (4)]

RBUSA [CHAR (4)]

CO_AREA [CHAR (4)]

RPROJK [NUMC (8)]

FM_AREA [CHAR (4)]

RFAREA [CHAR (16)]

MEASURE [CHAR (24)]

RFINUSE [CHAR (16)]

LOGSYS [CHAR (10)]

AGNCY_LCTN_CODE [CHAR (8)]

TRANSFER_AGCY_9 [CHAR (2)]

TRANSFER_ACCT_9 [CHAR (4)]

PROG_REPT_CAT [CHAR (3)]

FM01

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

 FMFGRPTADERIVE-FM_AREA = FM01-FIKRS 

0..N

{0,1}

FMFGF2PRC

CLIENT [CLNT (3)]

FM_FINUSE [CHAR (16)]

PROG_REPT_CAT [CHAR (3)]

 FMFGRPTADERIVE-PROG_REPT_CAT = FMFGF2PRC-PROG_REPT_CAT 

0..N

0..N

FMFGT_ALC

MANDT [CLNT (3)]

ALC [CHAR (8)]

 FMFGRPTADERIVE-AGNCY_LCTN_CODE = FMFGT_ALC-ALC 

0..N

0..N

FMFUSE

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

FINUSE [CHAR (16)]

 FMFGRPTADERIVE-RFINUSE = FMFUSE-FINUSE 

0..N

{0,1}

FMMEASURE

CLIENT [CLNT (3)]

FMAREA [CHAR (4)]

MEASURE [CHAR (24)]

 FMFGRPTADERIVE-MEASURE = FMMEASURE-MEASURE 
0..N

{0,1}

FMUSFGF2_TRANS

CLIENT [CLNT (3)]

TRANSFER_AGENCY [CHAR (2)]

TRANSFER_ACCOUNT [CHAR (4)]

 FMFGRPTADERIVE-TRANSFER_ACCT_9 = FMUSFGF2_TRANS-TRANSFER_ACCOUNT 
0..N

1  FMFGRPTADERIVE-TRANSFER_AGCY_9 = FMUSFGF2_TRANS-TRANSFER_AGENCY 0..N

1

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 FMFGRPTADERIVE-RPROJK = PRPS-PSPNR 
0..N

{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 FMFGRPTADERIVE-RBUKRS = T001-BUKRS 

0..N

1

 FMFGRPTADERIVE-SBUKRS = T001-BUKRS 

0..N
1

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 FMFGRPTADERIVE-RLDNR = T881-RLDNR 

0..N

0..N

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 FMFGRPTADERIVE-RVERS = T894-RVERS 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 FMFGRPTADERIVE-LOGSYS = TBDLS-LOGSYS 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 FMFGRPTADERIVE-RTCUR = TCURC-WAERS 

0..N

1

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 FMFGRPTADERIVE-RFAREA = TFKB-FKBER 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 FMFGRPTADERIVE-RBUSA = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 FMFGRPTADERIVE-CO_AREA = TKA01-KOKRS 

0..N

0..N


